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Note: This question paper is divided into three

sections.

Section-I: Consists of five questions and

each question is to be answered is not more

than 50 words, each carrying 02 marks.

Section-II: Consists of three questions with

internal choice and each question is to be

answered in not more than 250 words, each

carrying 10 marks.

Section-III: Consist of two questions with

internal choice, each question to be

answered in not more than 500 words, each

carrying 15 marks.

OR

vFkokvFkokvFkokvFkokvFkok
What do you understand by t-text ? Write down

the uses of t-text. The nine items of a sample

have the following values. Does the mean of

the 9 items differ significantly from the

assumed population mean of 47.5.

(t.05 for df = 8 is 2.306)

45, 47, 50, 52, 48, 47, 49, 53, 51

Vh&VsLV ls vki D;k le>rs gSa \ Vh&VsLV dh mi;ksfxrk
fyf[k;sA fdlh izfrn'kZ dh bdkbZ;ksa ds ewY; fn;s gSaA D;k
bu inksa ds lekUrj ek/; vkSj lexz ds ek/; esa lkFkZd
varj gS \
(t.05 for df = 8 is 2.306)

45, 47, 50, 52, 48, 47, 49, 53, 51
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bl iz'u i= ds rhu [k.M rhu [k.M rhu [k.M rhu [k.M rhu [k.M gSaA

[k.M&[k.M&[k.M&[k.M&[k.M&I ds vUrxZr ik¡pik¡pik¡pik¡pik¡p iz'u gSa ftudk mRrj
vf/kdre 50 'kCnksa esa nsuk gS] izR;sd iz'u 2 vadksa
dk gSA

[k.M& [k.M& [k.M& [k.M& [k.M& II vkarfjd fodYi ds lkFk rhurhurhurhurhu iz'uksa dk gS]
'kCn lhek 250 'kCn izR;sd iz’u 10 vadksa dk gSA

[k.M& [k.M& [k.M& [k.M& [k.M& III vkarfjd fodYi ds lkFk nksnksnksnksnks iz'uksa dk gS]
ftudk mRrj vf/kdre 500 'kCnksa esa nsuk gS] izR;sd
iz'u 15 vad gSA

Section - A

[k.M & v[k.M & v[k.M & v[k.M & v[k.M & v

1. (i) What do you mean by Central Tendency ?

dsUnzh; izo`fÙk ls vki D;k le>rs gSa \

(ii) what do you mean by mean ? Write its two

merits and two demerits.

ek/; ls vki D;k le>rs gSa \ blds nks xq.kksa ,oa
nks voxq.kksa dks fyf[k;sA

(iii)What do you mean by Type-I error and Type-

II error in the test of significance ?

lkFkZdrk dh tk¡p esa izFke izdkj dh =qfV ,oa
f}rh; izdkj dh =qfV ls vki D;k le>rs gSa \

,d ijh{kk esa 450 Nk=ksa ds lkaf[;dh rFkk vFkZ'kkL= esa
izkIr vadksa ds vk/kkj ij fuEufyf[kr vkadM+s fn;s x;s
gSaA lkaf[;dh esa ftl Nk= us 50 vad ik;s gSa mlds
vFkZ'kkL= ds vad crkb;sA

Statistics Economics

¼lk af[;dh½¼lk af[;dh½¼lk af[;dh½¼lk af[;dh½¼lk af[;dh½ ¼vFk Z'kkL=½¼vFk Z'kkL=½¼vFk Z'kkL=½¼vFk Z'kkL=½¼vFk Z'kkL=½
Mean Marks 40 48

¼ek/; vad½
Standard Deviation 12 16

¼ekud fopyu½
Co-efficient of

Correlation (r)= 0.49

lg&laca/k xq.kkad

6. Write the prerequisites of x2-text. Calculate
the x2-text from the following data:

x2-VsLV dh iwoZ&vko';drk;sa fyf[k,A fuEufyf[kr vk¡dM+ksa
dh lgk;rk ls x2-VsLV dh x.kuk dhft,A
Total Male = 250

¼dqy iq#"k½
Literate     = 100

¼lk+k{kj½
Unemployed = 50

¼csjkstxkj½
Literate Unemployed = 30

¼lk{kj csjkstxkj½
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(iv) Write the formula of T-test for two samples.

nks funZ'kksa ds fy, Vh&VsLV dk lw= fyf[k;sA
(v) What do you mean by positive and negative

association of attributes ?

/kukRed ,oa _.kkRed xq.k&laca/k ls vki D;k
le>rs gSa \

Section - B

[k.M & c[k.M & c[k.M & c[k.M & c[k.M & c

2. What is median ? Discuss its merits and

demerits. Calculate the median from the

following data :

ekf/;dk D;k gS \ blds xq.kksa ,oa nks"kksa dh ppkZ djsaA
fuUufyf[kr vkadMksa dh lgk;rk ls ekf/;dk Kkr dhft,A

C.I : 10-14 15-19 20-24 25-29 30-34

F   : 1 5 7 12 6

C.I : 35-39 40-44

F   : 4 3

OR

vFkokvFkokvFkokvFkokvFkok
What is Mode ? Describe its merits and

demerits. Calculate Mode from the following

data :

Institutions Success  Fail  Total

laLFkk;s alaLFkk;s alaLFkk;s alaLFkk;s alaLFkk;s a lQylQylQylQylQy vlQyvlQyvlQyvlQyvlQy ;k sx;k sx;k sx;k sx;k sx

College 58 42 100

egkfo|ky;

University 49 51 100

fo'ofo|ky;

Total 107 93 200

;ksx

Section - C

[k.M & l[k.M & l[k.M & l[k.M & l[k.M & l

5. Critically examine the applications and

limitations of statistics in social research.

lkekftd 'kks/k esa lkaf[;dh ds mi;ksfxrk vkSj lhekvksa
dk vkykspukRed ijh{k.k dhft,A

OR

vFkokvFkokvFkokvFkokvFkok

Discuss regression. The following data bared

on 450 students are given for marks in

statistics and economics at a certain

examination. Estimate the average marks in

Economics of the candidate who obtained 50

marks in statistics.
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cgqyd D;k gS \ blds xq.kksa ,oa nks"kksa dk o.kZu dhft,A
fuEufyf[kr vk¡dMksa ls cgqyd Kkr dhft,A

C.I : 10-20 20-30 30-40 40-50

F   : 5 9 13 21

C.I : 50-60 60-70 70-80 80-90

F   :  20 15 8 3

3. What is mean deviation ? Calculate the mean

deviation about mean from the following data :

C.I : 10-20 20-30 30-40 40-50 50-60 60-70 70-80

F   : 2 4 4 10 6 3 2

ek/; fopyu D;k gS \ fuEufyf[kr vk¡dM+ksa ds vk/kkj
ij ek/; fopyu ek/; ds lkis{k Kkr dhft,A

OR

vFkokvFkokvFkokvFkokvFkok

What is co-efficient of Variation ? Calculate

the co-efficient of variation from the following

data.

fopj.k xq.kkad D;k gS \  fuEufyf[kr vk¡dMksa ds vk/kkj
ij fopj.k xq.kkad Kkr dhft,A

Weight (Kg) : 47  50  58  45  53  59  47  60  49

otu ¼fdxzk0½

4. Illustrate by means of Scatter Diagram only

the presence of perfect and limited degree of

positive and negative correlations.

fo{ksi&fp=ksa dh lgk;rk ls iw.kZ ,oa lhfer ek=k ds

/kukRed ,oa _.kRed lg&laca/kksa dks iznf'kZr dhft,A

OR

vFkokvFkokvFkokvFkokvFkok

Explain difference between correlation and

Association of attributes. Discuss the utility

of association of attributes. On the basis of

following table find out the coefficient of

association between teaching management

and success.

lg&laca/k ,oa xq.k&laca/k es a varj Li"V djs aA

xq.k&laca/k dh mi;ksfxrk dh foospuk dhft,A fuEuukafdr

lkfj.kh dh vk/kkj ij v/;;u dh O;oLFkk ,oa lQyrk

ds xq.kksa esa lkgp;Z dk xq.kkad fudkfy;sA


